

## A SIMPLE PROOF FOR DOUCET'S INEQUALITY

DANIEL SITARU - ROMANIA

### DOUCET'S INEQUALITY

In  $\triangle ABC$  the following relationship holds:

$$s\sqrt{3} \leq r + 4R$$

*Proof.*

$$\begin{aligned} r_a r_b + r_b r_c + r_c r_a &= \frac{F}{s-a} \cdot \frac{F}{s-b} + \frac{F}{s-b} \cdot \frac{F}{s-c} + \frac{F}{s-c} \cdot \frac{F}{s-a} = \\ &= F^2 \left( \frac{1}{(s-a)(s-b)} + \frac{1}{(s-b)(s-c)} + \frac{1}{(s-c)(s-a)} \right) = \\ &= s(s-a)(s-b)(s-c) \left( \frac{1}{(s-a)(s-b)} + \frac{1}{(s-b)(s-c)} + \frac{1}{(s-c)(s-a)} \right) = \\ &= s(s-c) + s(s-b) + s(s-a) = \\ &= s(s-c + s-b + s-a) = s^2 \end{aligned}$$

(1)

$$\begin{aligned} r_a r_b + r_b r_c + r_c r_a &= s^2 \\ r_a + r_b + r_c &= \frac{F}{s-a} + \frac{F}{s-b} + \frac{F}{s-c} = \\ &= F \left( \frac{1}{s-a} + \frac{1}{s-b} + \frac{1}{s-c} \right) = \\ &= \frac{F}{(s-a)(s-b)(s-c)} ((s-a)(s-c) + (s-c)(s-a) + (s-a)(s-b)) = \\ &= \frac{Fs}{F^2} (3s^2 - s(b+c+c+a+a+b) + ab+bc+ca) = \\ &= \frac{s}{F} (3s^2 - s \cdot 4s + ab+bc+ca) = \\ &= \frac{s}{rs} (-s^2 + s^2 + r^2 + 4Rr) = \\ &= \frac{1}{r} (r^2 + 4Rr) = r + 4R \end{aligned}$$

(2)

$$r_a + r_b + r_c = r + 4R$$

If  $x, y, z \in \mathbb{R}$  then:

$$(3) \quad 3(xy + yz + zx) \leq (x + y + z)^2$$

Replace in (3) :  $x = r_a; y = r_b; z = r_c$

$$3(r_a r_b + r_b r_c + r_c r_a) \leq (r_a + r_b + r_c)^2$$

By (1); (2):

$$3s^2 \leq (r + 4R)^2$$

$$s\sqrt{3} \leq r + 4R$$

Observation:

By Euler's inequality:  $r \leq \frac{R}{2}$

$$s\sqrt{3} \leq r + 4R \leq \frac{R}{2} + 4R \leq \frac{9R}{2}$$

$$2s\sqrt{3} \leq 9R$$

$$s \leq \frac{9R}{2\sqrt{3}} \Rightarrow s \leq \frac{R\sqrt{3}}{2}$$

which is MITRINOVIC'S INEQUALITY

#### REFERENCES

- [1] Romanian Mathematical Magazine - Interactive Journal, [www.ssmrmh.ro](http://www.ssmrmh.ro)

□

MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE "THEODOR COSTESCU", DROBETA  
TURNU - SEVERIN, ROMANIA

*Email address:* [dansitaru63@yahoo.com](mailto:dansitaru63@yahoo.com)